Ответы

Вариант№ 8083718
	№ п/п
	Правильный ответ

	1
	474

	2
	650000

	3
	4180

	4
	2

	5
	0,125

	6
	-11

	7
	3

	8
	-2

	9
	9,5

	10
	15

	11
	90

	12
	4,5

	13
	20

	14
	0

	15
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	17
	3

	18
	37,5
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	21
	




Вариант№ 6083789

	№ п/п
	Правильный ответ

	1
	11

	2
	3

	3
	6960

	4
	22

	5
	0,91

	6
	12

	7
	10

	8
	-0,5

	9
	138

	10
	14

	11
	8

	12
	20

	13
	3

	14
	4

	15
	

	16
	

	17
	

	18
	

	19
	

	20
	

	21
	



[bookmark: _GoBack]Вариант№ 8083730

	№ п/п
	Правильный ответ

	1
	4

	2
	39

	3
	18

	4
	9

	5
	0,25

	6
	-185

	7
	0,25

	8
	3

	9
	0,5

	10
	80,625

	11
	8,8

	12
	24

	13
	9

	14
	10

	15
	

	16
	

	17
	

	18
	  

	19
	

	20
	

	21
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